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3.2 Introduction

In relation to the question ‘Where are we now?’, it is useful to know how resources
have been utilized and with what returns. To this end, it helps to think of the organiza-
tion as a bundle of projects or activities. This is relevant whether the organization is
large or small, commercial or non-commercial, engaged in manufacturing or service

rendering. Typical projects might be defined as:

= Reformulation and relaunch of product X
= Continued market success with service Y

= The successful development and launch of project Z.

One might go further and define projects or activities in terms of missions: a mission
in this context represents the provision of a product or range of products at a particu-
lar level of service to a particular customer or customer group in a particular area.
Figure 3.1 illustrates this (see also Chapter 7).

An organization’s mix of projects — or missions — will be constantly changing, and
each has resource implications and profit consequences. For example, the scarcity of
resources inevitably means that choices must be made in rationing available resources
(whether in the form of funds, management time, etc.) among competing activities. It
may be that new activities can only be adopted if old ones are deleted, thereby freeing
resources. But how might a manager know which activities are worth retaining, which
should be added to the portfolio and which should be deleted? One starting point is to
establish the cost of each of the organization’s existing activities.

We can think of cost as being equivalent in broad terms to effort, so what we are ini-
tially seeking to establish is how the available effort has been applied to the various
activities in which the organization is engaged. Before we can really get to grips with
this, however, we need to clarify our understanding of some important categories of

cost.
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Level of service

Product %
Customer type 7

Area 7

=
&

Figure 3.1 Multidimensional mission characteristics (source: Barrett, 1980, p. 143)

3.3 The clarification of cost categories

Many of the costs of marketing are not satisfactorily identified, since marketing func-
tions are not always carried out by the marketing department. (It could be argued that
any members of an organization who deal with customers, for example, are carrying
out a marketing function even though they may not be recognized in any formal sense
as members of the marketing staff.) This is one definitional problem, but not the only
one.

Another definitional problem concerns the traditional focus that accountants have
adopted, which puts product costing at the centre of their costing systems. This tra-
ditional preoccupation with the manufacturing costs of products and factory processes
emphasizes the attributes of whatever is currently being made. Such an orientation fails
to deal with patterns of consumer preferences and competitive positioning by market
segment. The attributes of market segments — from which profit is derived — are funda-
mentally different from those attributes that characterize production processes. Any
analysis based on product costing will generate insights that are limited by their ori-
gins, thereby failing to support marketing orientation.

Whatever cost object (or activity) is selected as the focus of attention, some costs
will be direct (in the sense of being traceable to the activity — such as direct labour, and
direct material inputs into a unit of manufactured output, or a salesperson’s salary and
expenses in relation to the sales territory), while others will be indirect. By definition,
indirect costs cannot be traced directly to cost objects, so any procedure whereby these

costs are assigned to cost objects will mean that the resulting full (or ‘absorbed’) cost is
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inaccurate to an unknown extent. The assigning of a ‘fair share’ of indirect costs, along
with direct costs, to cost objects is at the heart of absorption costing.

A particular cost item can only be termed direct or indirect once the cost object has
been specified. This could be, for example, a particular product, a product range, a
brand, a customer or customer group, a channel, a sales territory, an order, and so on.
Thus, a salesperson’s salary will be indirect in relation to the individual product lines
sold (assuming the salesperson carries a range of products), but it will be a direct cost
of the territory in which that individual is operating. In the same way, the costs of dis-
tributing various products to wholesalers may be indirect with regard to the goods
themselves, but direct if one is interested in costing the channel of distribution of which
the wholesalers are part.

The same basic problems arise in attempting to determine the full cost of a cost
object in every type of organization, whether a service company, a retailing enterprise, a
factory or a non-commercial entity. For example, a garage (as one type of service organ-
ization) will treat the servicing of each customer’s car as a separate job (or cost object),
to which will be assigned the direct cost of the mechanic’s time, materials and parts,
plus an allowance (usually applied as an hourly rate and associated with the utilization
of mechanics’ time) for the use of indirect factors (which will include power, equip-
ment, rent, rates, insurance, salaries of reception, supervisory and stores staff, etc.).
A similar approach is applied by firms of solicitors or accountants, by consulting engin-
eers, architects and management consultants. Non-commercial organizations typically
provide services (such as health care, defence, education and spiritual guidance) and
use resources in carrying out their various activities in much the same way as do
commercial undertakings. The logic of absorption costing is equally applicable to non-

commercial as to commercial enterprises.

3.4 Marketing cost analysis: aims and methods

Establishing a baseline for marketing planning can be seen to be concerned with the allo-
cation of total marketing effort to cost objects (also known as segments), along with the
profit consequences of these allocations. It is generally found, however, that companies
do not know the profit performance of segments in marketing terms. Useful computa-
tions of marketing costs and profit contributions in the multi-product company require
the adoption of analytical techniques which are not difficult in principle but which are
not widely adopted in practice on account of, inter alia, the preoccupation with factory
cost accounting that exists.

The fact that most companies do not know what proportion of their total mar-
keting outlay is spent on each product, sales territory or customer group may be due
to the absence of a sufficiently refined system of cost analysis, or it may be due to
vagueness over the nature of certain costs. For instance, is the cost of packaging a
promotional a production or a distribution expense? Some important marketing

costs are hidden in manufacturing costs or in general and administrative costs,
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including finished goods inventory costs in the former and order-processing costs in
the latter.

Since few companies are aware of costs and profits by segment in relation to sales
levels, and since even fewer are able to predict changes in sales volume and profit

contribution as a result of changes in marketing effort, the following errors arise:

1 Marketing budgets for individual products are too large, with the result that dimin-
ishing returns become evident and benefits would accrue from a reduction in
expenditure

2 Marketing budgets for individual products are too small and increasing returns
would result from an increase in expenditure

3 The marketing mix is inefficient, with an incorrect balance and incorrect amounts
being spent on the constituent elements — such as too much on advertising and insuf-
ficient on direct selling activities

4 Marketing efforts are misallocated among missions and changes in these cost
allocations (even with a constant level of overall expenditure) could bring

improvements.

Similar arguments apply in relation to sales territories or customer groups as well as to
products. The need exists, therefore, for planning and control techniques to indicate the
level of performance required and achieved, as well as the outcome of shifting market-
ing efforts from one segment to another. As is to be expected, there exists great diversity
in the methods by which managers attempt to obtain costs (and profits) for segments of
their business, but much of the cost data is inaccurate for such reasons as those listed

below:

= Marketing costs may be allocated to individual products, sales territories, customer
groups, etc., on the basis of sales value or sales volume, but this involves circular
reasoning. Costs should be allocated in relation to causal factors and it is order-
getting marketing expenditures that cause sales to be made rather than the other way
round: managerial decisions determine order-getting marketing costs. A different
pattern typically applies to order-fitting (e.g. logistics) costs, since sales volume will
cause (or drive) order-filling costs: order-getting — sales volume — order-filling.
Furthermore, despite the fact that success is so often measured in terms of sales
value achievements by product line, this basis fails to evaluate the efficiency of the
effort needed to produce the realized sales value (or turnover). Even a seemingly
high level of turnover for a specific product may really be a case of misallocated
sales effort. (An example should make this clear: if a salesman concentrates on sell-
ing Product A, which contributes £50 per hour of effort, instead of selling Product B,
which would contribute £120 per hour of effort, then it ‘costs’ the company £70 for
each hour spent on selling Product A. This is the opportunity cost of doing one thing
rather than another and is a measure of the sacrifice involved in selecting only one

of several alternative courses of action.)
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= General indirect and administrative costs are arbitrarily (and erroneously) allocated
to segments on the basis of sales volume.

= Many marketing costs are not allocated at all as marketing costs, since they are not
identified as such, but are classified as manufacturing, general or administrative

costs instead.

Marketing cost analysis has been developed to help overcome these problems and

aims to:

1 Analyse the costs incurred in marketing products (embracing order-getting and
order-filling aspects), so that when they are combined with product cost data overall
profit can be determined

2 Analyse the costs of marketing individual products to determine profit by product
line

3 Analyse the costs involved in serving different classes of customers, different territor-
ies and other segments to determine their relative profit performance

4 Compute such figures as cost per sales call, cost per order, cost to put a new cus-
tomer on the books, cost to hold £1’s worth of inventory for a year, etc.

5 Evaluate managers according to their actual controllable cost responsibilities

6 Evaluate alternative strategies or plans with full costs.

These analyses and evaluations provide senior management with the necessary infor-
mation to enable them to raise questions regarding which classes of customer to culti-
vate, which products to delete or encourage, which channels may be preferable, and so
forth. Such analyses also provide a basis from which estimates may be developed of the
likely increases in sales volume, value or profit (i.e. outputs) that a specified increase in
marketing effort (i.e. input) might create. In the normal course of events, it is far more
difficult to predict the outcome of decisions that involve changes in marketing outlays
in comparison with changes in production expenditure. It is easier, for instance, to esti-
mate the effect of a new machine in the factory than it is to predict the impact of higher
advertising outlays. Similarly, the effect on productive output of dropping a production
worker is easier to estimate than is the effect on the level of sales caused by a reduction
in the sales force.

The basic approach of marketing cost analysis is similar to that of product costing.

Two stages are involved (see Figure 3.2):

1 Marketing costs are initially reclassified from their natural expense headings (e.g.
salaries) into functional cost groups (e.g. sales expenses) in such a way that each cost
group brings together all the costs associated with a particular marketing activity

2 These functional cost groups are then apportioned to the cost object/segment of
interest (e.g. product lines, customer groups, channels of distribution, etc.) on the
basis of measurable criteria that bear as close an approximation as possible to a

causal relationship with the total amounts of the functional cost groups.
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Phase 1 Phase 2 Segment revenue
Assign costs Assign functional
to functions costs to segment )
minus
Costs of Function A
Indirect
Costs of Function B
Costs Fullo?ost
incurred segment
Costs of Function C
Direct
gives
Net profit

Figure 3.2 Determining segmental costs (source: Wilson and Chua, 1993, p. 87)

Once the natural indirect expenses have been reclassified on a functional basis, they are
then charged to the segment in line with the usual benefit criterion (i.e. the segment is
only allocated with that portion of each functional cost group that can be related to it on
some approximation of a cause and effect basis). The logical basis of allocation may be
apparent from an analysis of the underlying data, but it is important to observe that
some costs vary with the characteristics of one type of segment only. Thus, inventory
costs depend on the characteristics of products rather than on those of customers,
whereas the cost of credit depends on the financial integrity and number of customers
rather than on regional factors. Accordingly, not all functional costs should be allocated
to products, customers and territorial segments. Allocation should only be made when
an actual or imputed cause and effect relationship between an underlying activity and
some resultant cost which is relevant to the segment(s) can be identified.

It must be remembered when using marketing cost analysis that any cost allocation
involves a certain degree of arbitrariness, which means that an element of approxima-
tion is inevitably contained within the allocation. Furthermore, it remains necessary to
supplement the analysis of marketing costs with other relevant information and with
managerial judgement.

Marketing cost analysis is the joint responsibility of the controller and the marketing
manager, with the controller supplying most of the information and the marketing man-
ager supplying most of the judgement. Nevertheless, the marketing manager must be
fully aware of the method and limitations of marketing cost analysis. The high cost of
establishing and maintaining a marketing costing system is justified by the benefits

derived from increasing the efficiency of marketing effort. The risks involved in adopting
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marketing cost analysis before the benefits have been demonstrated can be reduced by
initially confining the analysis to a sample of products, customers or territories, and by
making periodic rather than continuous analyses.

Since a fundamental objective of marketing cost analysis lies in increasing the pro-
ductivity of expenditures and not necessarily in their reduction, the manager who
wishes to introduce marketing cost analysis must emphasize the desire to make better
use of existing resources rather than reducing future budgets. The integration of mar-
keting costing with marketing research can assist in this matter. Confining any costing
system to data provided from accounting records risks forcing that system to be histor-
ical, but marketing research can provide estimates of future outcomes resulting from
variations in marketing effort (with or without experimentation and the building of
complex models) which enable the efficiency of alternate expenditure patterns to be
predetermined and evaluated in accordance with corporate aims.

See Illustration 3.1.
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3.5 An illustration of segmental analysis

As discussed above, a segment is any cost object which is of interest, and is synonym-
ous with the notion of activity, project or mission as appropriate. Thus, for example,
marketing segments may be one — or a combination — of the following:

Product line or range
Channel of distribution

-

-

= Sales representative or territory

= Customer or customer/industry group
-

Size of order.
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It is possible to vary the degree of aggregation of segments, as shown in Figure 3.3.
Initially one must select the segment in which one is interested (e.g. territory, cus-
tomer, etc.). Then one must select the approach to costing that one prefers. Essentially,

there are two major alternatives:

1 Absorption (or full) costing
2 Variable (or direct or marginal) costing.

Our earlier discussion dealt with the first of these, and we saw that this approach
involves charging both direct and a portion of indirect costs to the segment in question.
When set against the segment’s revenue the result is a net profit figure.

Figure 3.4 shows an example of the net profit picture in an organization operating
through three different channels of distribution.

The net profit figure reflects the result of the allocation of effort as shown by the
total of:

= Cost of goods sold
= Direct marketing costs

= Indirect marketing costs.

Once this allocation has been set against the revenue figure, channel by channel, it is
evident that the validity of the net profit figures that emerge depend critically upon the

adequacy of the means by which indirect costs are apportioned.

Level Segment
Corporate ABC Ltd

Division Machine tools Electronics

Territory North South

Market Home Computers Calculators

Product Business Scientific

Customer Wholesaler Retailer

il
it

Size of order Large Small

Figure 3.3 Segmental levels (adapted from Ratnatunga, 1983, p. 34)
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£'000s Channel Total
A B C
Revenue 875 950 1,225 3,050
Cost of goods sold 325 285 490 1,100
Gross Profit 550 665 735 1,950
Direct marketing costs 265 245 450 960
Indirect marketing costs 330 275 250 855
Total marketing costs 595 520 700 1,815
Net profit (45) 145 35 135

Figure 3.4 Profit analysis by channel

3.6 An alternative approach to segmental analysis

The alternative approach to segmental analysis is the variable costing approach, in
which only direct costs are allocated to arrive at a measure of profit known as marketing
contribution. Using the data from Figure 3.4, this has been reworked in Figure 3.5 to
illustrate the variable costing approach.

It has been assumed that the cost of goods sold figures in Figure 3.4 included
£700 000 of variable manufacturing costs and £400 000 of fixed manufacturing costs;

£'000s Channel Total
A B C
Revenue 875 950 1,225 3,050
Variable COGS 225 175 300 700
Manufacturing contribution 650 775 925 2,350
Variable direct marketing costs 115 105 190 410
Variable contribution 535 670 735 1,940
Fixed direct marketing costs 150 140 260 550
Marketing contribution 385 530 475 1,390
Indirect costs 855
Fixed manufacturing costs 400
Net profit 135

Figure 3.5 A direct costing profit statement
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that the direct costs are all of a marketing nature and can be split into fixed and variable
components as shown in Figure 3.5; and that the indirect costs are all non-allocable to
channels. The result is a clear statement that sufficient revenue is being generated via
each channel to cover the variable costs and the directly allocable fixed costs. Moreover,
there is sufficient total contribution to cover the indirect costs and the fixed manufac-

turing costs while still making a net profit of £135 000.

3.7 Customer profitability analysis

An approach to segmental analysis that is of increasing interest is customer profitability
analysis (CPA). If marketing effort is to be directed at customers or market segments
with the greatest profit potential, it is essential that marketing managers have informa-
tion showing both the existing picture with regard to customer profitability and
prospects for the future.

Customer profitability analysis has been defined (Anandarajan and Christopher,
1987, p. 86) as:

ll. .. the evaluation, analysis and isolation of:

= all the significant costs associated with servicing a specific customer/group of customers
from the point an order is received through manufacture to ultimate delivery;
= the revenues associated with doing business with those specific customers/customer

groups.”

The implementation of CPA can be achieved by a series of steps that parallel the
steps suggested earlier for other types of segmental analysis. In outline, these steps

are:

= Step 1. Clearly define customer groups and market segments in a way which distin-
guishes the needs of customers in one group from those of customers in another
group.

= Step 2. For the customer groups or market segments of interest, identify those factors
that cause variations in the costs of servicing those customers. This can be done by
identifying the key elements of the marketing mix used for each customer group or
segment, from which some indication of the costs of servicing each group should be
drawn.

= Step 3. Analyse the ways in which service offerings are differentiated between cus-
tomer groups. For example, terms of trade may vary between home-based and over-
seas customers, or between large and small customers, as might the level of service
(i.e. speed of delivery) to key accounts.

= Step 4. Clearly identify the resources that have been used to support each customer
group or segment — including personnel, warehouse facilities, administrative

backup, etc.
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= Step 5. Determine ways in which the costs of resources (step 4) can be attributed to
customer groups.

= Step 6. Relate revenues and costs to each customer group, with profit emerging as
the difference.

The total of the costs for a given customer group is a measure of the effort that has been
allocated to that group, and the profit is a measure of the return from that effort. Until

the existing pattern of allocation is known, along with its profitability, it is not possible

to devise ways of improving that allocation.
See Illustration 3.2.
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An example, ABC Ltd, follows which illustrates in detail how the above approach
might be implemented. This approach has been in existence for over 60 years, but
renewed interest in it has been generated over the last 10 years or so under the banner
of activity-based costing (ABC).

ABC Ltd: an exercise on segmental analysis

The profit and loss account for last month’s operations of ABC Ltd is given in Figure 3.6,
showing a net profit of £14 070. (The numbers in this example are only intended to show
how the calculations can be done.)

Derek Needham, ABC'’s chief executive, is interested in knowing the profit from each
of the company’s three customers. Since this cannot be known from Figure 3.6 as it stands,
he asks his management accountant, Philip Randall, to carry out the necessary analysis.

In addition to the five natural accounts shown in the profit and loss account,

Mr Randall has identified four functional accounts:

1 Personal selling
2 Packaging and despatch
3 Advertising

4 Invoicing and collection.

£

Sales revenue 255,000
Cost of goods sold 178,500

Gross profit 76,500

Expenses

Salaries

Rent

Packaging materials
Postage and stationery
Hire of office equipment

62,430
Net profit £14,070

Figure 3.6 ABC Ltd: profit and loss account
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His investigations have revealed that:

1 Salaries are attributable as follows:
= Sales personnel £15 000
= Packaging labour £13 500
= Office staff £9000.

Salesmen seldom visit the office. Office staff time is divided equally between promo-
tional activities on the one hand and invoicing/collecting on the other.

2 The rent charge relates to the whole building, of which 20 per cent is occupied by
offices and the remainder by packaging/despatch.

3 All the advertising expenditure is related to Product C.

4 ABC Ltd markets three products, as shown in Figure 3.7. These products vary in their
manufactured cost (worked out on absorption lines), selling price and volume sold
during the month. Moreover, their relative bulk varies: Product A is much smaller
than Product B, which in turn is only half the size of Product C (see Figure 3.7).

5 Each of ABC’s three customers requires different product combinations, places a dif-

ferent number of orders and requires a different amount of sales effort. As Figure 3.8

Product Manufactured Selling Number of Sales Relative
cost price units sold revenue bulk
per unit per unit last month per unit

A £105 £150 1,000 £150,000 1

B £525 £750 100 £75,000 3

C £2,100 £3,000 10 £30,000 6

1,110 £255,000

Figure 3.7 ABC Ltd: basic product data

Customer Number of Number of Number of units of each

sales calls orders placed product ordered in period

in period in period

A B C

Charles 30 30 900 30 0
James 40 3 90 30 3
Hugh 30 i 10 40 7
Totals 100 34 1,000 100 10

Figure 3.8 ABC Ltd: basic customer data
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shows, James received more sales calls, Charles placed more orders and Hugh made

up most of the demand for Product C.

Using the data that has been presented, and making various assumptions that we feel
to be appropriate, we can apply absorption costing principles in order to determine the
net profit or loss attributable to each of ABC’s customers. On the basis of our analysis,
we may be able to suggest what course of action be considered next.

Among the given data we are told that office staff divide their time equally

between two functional activities:

1 Advertising (i.e. order-getting)
2 Invoicing and collections.

It seems reasonable to assume (in the absence of other guidance) that space, postage
and stationery, and office equipment are used equally by these two functions. The cal-
culations that follow are based on this assumption, but any other reasonable (and
explicit) basis could be acceptable.

Rent is payable on the basis of:

= 20 per cent office space (i.e. £1500)
= 80 per cent packaging and despatch space (i.e. £6000).

All packaging materials are chargeable to packaging and despatch (which is a clear-cut
example of a direct functional cost). Since packaging costs will vary with the bulk of the
products sold rather than with, say, the number of units sold or sales revenue, we need
to take note of the causal relationship between the bulk of sales and packaging costs
(see Figure 3.9).

This can be done by computing (as in Figure 3.9) a measure termed ‘packaging
units’, which incorporates both the number of units and their relative bulk. Even
though only 10 units of Product C are sold during the month, the relative bulk of that
product (with a factor of 6) ensures that it is charged with a correspondingly high
amount of packaging effort (hence cost) per unit relative to Products A and B.

Product Number of Relative bulk Packaging
units sold per unit units

A 1,000 X 1 = 1,000

B 100 X 3 = 300

C 10 X 6 = 60
1,110 1,360

Figure 3.9 ABC Ltd: packaging units
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The bases for determining the rates to apply functional costs to segments can be

built up in the following way:

1 Assign natural expenses to functional activities (see Figure 3.10).
2 Select bases for assigning functional costs to segments.
= Sales calls can be used for personal selling expenses (although this assumes all
calls took an equal amount of time)
= The packaging costs vary in accordance with the number of packaging units han-
dled, so a rate per product can be established by taking bulk and the number of
units handled into account
= Advertising can be related to the number of units of Product C sold during the
period (which assumes that advertising was equally effective for all sales, and that
all its benefits were obtained during the period in question)
= The costs of invoicing can be assumed to vary in accordance with the number of
orders (hence invoices) processed during the period.

Relevant calculations are given below:

functional costs £15,000
t 1 11 = = —— = £150.
Cost per sales ca no. of sales calls 100 50.00
functional cost: £34,680
Packaging costs = Jncond ,COS > — = = £25.50
no. of packaging units 1,360
Product A = £25.50 X 1 = £25.50
Product B = £25.50 X 3 = £76.50
Product C = £25.50 X 6 = £153.00
functional costs £6,375
Advertisi t = = ——— = £637.50
Vertising cos units of C sold 10
functional costs £6,375
I ici t der = ———— = ——— = £187.50
nvoicing cost per order 0. of orders 3
Natural Personal Packaging Advertising Invoicing
expense selling and and
despatch collection
Salaries £15,000 £13,500 £4,500 £4,500
Rent N £6,000 £750 £750
Packaging materials - £15,180 - -
Postage and stationery - - £375 £375
Hire of equipment - - £750 £750
Total £15,000 £34,680 £6,375 £6,375

Figure 3.10 ABC Ltd: assigning natural expenses
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3 Assign functional costs to segments. Before this step can be executed fully, it is neces-
sary to calculate the cost of goods sold (COGS) on a customer-by-customer basis. The
data given in Figure 3.7 includes the manufactured cost per unit of each product, and
from the data given in Figure 3.8 we can see how many units of each product are
bought by each customer. From this, we can calculate the data given in Figure 3.11.
We can now turn to the assigning of functional costs to segments. If we take the case
of Charles, we know that he can be attributed with a total of £35,370 (see Figure 3.12).
A similar computation needs to be carried out for James and Hugh, which gives us
the data in Figure 3.13. Finally, the revenue generated from each customer must be
calculated as in Figure 3.14.

4 Compile a net profit statement. All the pieces can now be put together to show the profit
or loss of each customer account with ABC Ltd. The resulting figures (Figure 3.15)
show that Charles and Hugh are profitable accounts, while James is marginally
unprofitable.

Customer
Charles James Hugh

Product Unit
COGS Units coGS Units CoGS Units CoGS
A £105 900 94,500 90 9,450 10 1,050
B £525 30 15,750 30 15,750 40 21,000
@ £2,100 0 0 3 6,300 7 14,700
£110,250 £31,500 £36,750

.

Figure 3.11 ABC Ltd: determining cost of goods sold by customer

30 sales calls @ £150.00 £4,500
30 orders @ £187.50 £5,625
Packaging costs for:
Product A 900 x £25.50 £22,950.00
Product B 30 X £76.50 £2,295.00
Product C 0
£25,245
Advertising 0
Segmental marketing cost £35,370

Figure 3.12 ABC Ltd: Charles’s costs
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James
40 sales calls @ £150.00 £6,000.00
3 orders @ £187.50 £562.50
Packaging
A 90 X £25.50 £2,295
B 30 x £76.50 £2,295
C 3 X £153.00 £459
£5,049.00
Advertising 3 X £637.50 £1,912.50
Segmental marketing cost £13,524.00

Hugh
30 sales calls @ £150.00 £4,500.00
1 order @ £187.50 £187.50
Packaging
A 10 X £25.50 £255
B 40 X £76.50 £3,060
C 7 x £153.00 £1,071
£4,386.00
Advertising 7 X £637.50 £4,462.50
Segmental marketing cost £13,536.00

Figure 3.13 ABC Ltd: costs of James and Hugh

Customer
Unit Charles James Hugh
selling
Product price Units Revenue Units Revenue Units Revenue
A £150 900 135,000 90 13,500 10 1,500
B £740 30 22,200 30 22,200 40 29,600
C £3,000 0 0 3 9,000 7 21,000
£157,200 £44,700 £52,100

Figure 3.14 ABC Ltd:

Sales revenue
COGS

Gross profit
Marketing expenses

Net profit

Figure 3.15 ABCLtd

revenue by customer

Customer
Charles James Hugh ABC Ltd
£157,200 £44,700 £52,100 £254,000
110,250 31,500 36,750 178,500
46,950 13,200 15,350 75,500
35,370 13,524 13,536 62,430
£11,580 £(324) £1,814 £13,070

: net profit by customer
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In productivity terms (see pp. 102-4 below), it is evident that there are significant

variations from one customer to another. Taking Charles first, we have:

‘ :

COGS 110,250 Sales revenue 157,200
Marketing 35,370
£145,620 £157,200

Outputs _ £157,200
Inputs £145,620

Productivity = 1.08

This productivity index of 1.08 is better than the figure of 1.06 for ABC Ltd as a
whole (as shown in Figure 3.16), and considerably in excess of the figures for James and
Hugh. It is in excess of unity, which is, prima facie, a good thing.

Taking James next, we have:

: :

COGS 31,500 Sales revenue 44,700
Marketing 13,524
£45,024 £44,700

Outputs  £44,700

= = 0.99
Inputs £45,024

Productivity =

Since this index is below unity, it follows that a loss is being made, and the loss
(£324) is the amount by which the value of the inputs consumed in servicing James
exceeds the output generated from his account.

Turning now to Hugh, we have the following picture:

: ‘

COGS 36,750 Sales revenue 52,100
Marketing 13,536
£50,286 £52,100

Outputs  £52,100
Inputs £50,286

Productivity = = 1.04

The index is greater than unity, but not as large as that for Charles, or for that relat-

ing to ABC Ltd as a whole. This overall position is given below:

: :

COGS 178,500 Sales revenue 254,000
Marketing 62,430
£240,930 £254,000

Outputs  £254,000
Inputs £240,930

Productivity = 1.06

A summary is provided in Figure 3.16.
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ABC Ltd
Charles James Hugh as a whole
Outputs (£) 157,200 44,700 52,100 254,000
Inputs (£) 145,620 45,024 50,286 240,930
Productivity index 1.08 0.99 1.04 1.06

Figure 3.16 ABC Ltd: productivity by segment

Interpretation of data

A danger in using an absorption-based approach in segmental analysis is that the ‘bot-
tom line” might be taken as a criterion for action. It should not be — the aim is to deter-
mine the net profit as a criterion for investigation. (In a sense, of course, this is one type
of action, but the type of action that should be avoided is the eliminating of James’s
account due to the loss revealed in Figure 3.15.)

Charles’s account contributed almost 85 per cent of the total net profit, and he
bought three times as much from ABC Ltd as did Hugh, and more than three times the
purchases of James. However, the number of sales calls to Charles was fewer than to
James, although Charles placed a much larger number of orders than both James and
Hugh together.

The mix of products purchased clearly affects the profit performance of different
customer accounts. While the COGS does not vary from one product to another (being
70 per cent of sales revenue for each product line), the variation in relative bulk of the
product lines caused differences in packaging costs. Thus, Charles (whose orders were
for 900 units of A, 30 of B and none of C) was charged with relatively less packaging
cost than either James or Hugh due to the smaller packaging bulk of Product A. On a
similar basis, since Charles bought no units of C his account was not charged with any
advertising costs, so the profit performance of Charles’s account would clearly be better
than either of the others.

One possible way forward could be to consider calling less often on James, to
encourage Charles to place fewer (but larger) orders, and to rethink the wisdom of the
advertising campaign for Product C.

It is vital to recognize that this net profit approach to segmental analysis can only
raise questions: it cannot provide answers. (The reason for this, of course, is that the
apportionment of indirect costs clouds the distinction between avoidable and unavoid-
able costs, and even direct costs may not all be avoidable in the short run.)

The application of the above steps to a company’s product range may produce the
picture portrayed in Figure 3.17.

The segment could equally be sales territory, customer group, etc., and after the

basic profit computation has been carried out it can be supplemented (as in Figure 3.18)
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Product

% contribution
to total profits

Total for all products

Profitable products:
A

MmO N

Sub-total

G
H

Sub-total

Figure 3.17 Segmental profit statement

by linking it to an analysis of the effort required to produce the profit result. (Clearly
this is a multivariate situation in which profit depends upon a variety of input factors —
as suggested by Figure 3.1 — but developing valid and reliable multivariate models is
both complex and expensive.) As a step in the direction of more rigorous analysis, one

can derive benefits from linking profit outcome to individual inputs — such as selling

time in the case of Figure 3.18.

Product % contribution % total
to total profits selling time

Total for all products 100 100

Profitable products:

A 43.7 16.9

B 355 18.3

C 16.4 17.4

D 9.6 5.3

E 6.8 10.2

F 4.2 A

Sub-total 116.2 75.2

Unprofitable products:

G 1.5 9.5

H 8.7 153

Sub-total -16.2 24.8

Figure 3.18 Segmental productivity statement
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From Figure 3.18 it can be seen that Product A generates 43.7 per cent of total prof-
its, requiring only 16.9 per cent of available selling time. This is highly productive. By
contrast, Product E produces only 6.8 per cent of total profits but required 10.2 per cent
of selling effort. Even worse, however, is the 24.8 per cent of selling effort devoted to
Products G and H, which are unprofitable.

A number of obvious questions arise from this type of analysis. Can the productiv-

ity of marketing activities be increased by:

= Increasing net profits proportionately more than the corresponding increase in mar-
keting outlays?

= Increasing net profits with no change in marketing outlays?

= Increasing net profits with a decrease in marketing costs?

= Maintaining net profits at a given level but decreasing marketing costs?

= Decreasing net profits but with a proportionately greater decrease in marketing costs?

If these analyses are based purely on historical information, they will provide less help
than if they relate to plans for the future. One way of overcoming the limitations of his-
torical information is to plan and control the conditions under which information is

gathered. This can be achieved through marketing experimentation.

3.8 Marketing experimentation

As we saw in Chapter 1 (see also Chapter 15), attempts are made in a marketing
experiment to identify all the controllable independent factors that affect a particular
dependent variable, and some of these factors are then manipulated systematically
in order to isolate and measure their effects on the performance of the dependent
variable.

It is not possible, of course, to plan or control all the conditions in which an experiment
is conducted; for example, the timing, location and duration of an experiment can be pre-
determined, but it is necessary to measure such uncontrollable conditions as those caused
by the weather and eliminate their effects from the results. Irrespective of these uncontrol-
lable influences, the fact that experiments are concerned with the deliberate manipulation
of controllable variables (i.e. such variables as price and advertising effort) means that a
good deal more confidence can be placed in conclusions about the effects of such manipu-
lation than if the effects of these changes had been based purely on historical associations.

Studies of marketing costs can provide the ideas for experiments. Questions such

as the following can be answered as a result of marketing experimentation.

1 By how much (if any) would the net profit contribution of the most profitable prod-
ucts be increased if there were an increase in specific marketing outlays, and how
would such a change affect the strategy of competitors in terms of the stability of,

say, market shares?
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2 By how much (if any) would the net losses of unprofitable products be reduced if
there were some decrease in specific marketing outlays?

3 By how much (if any) would the profit contribution of profitable products be affected
by a change in the marketing effort applied to the unprofitable products, and vice
versa, and what would be the effect on the total marketing system?

4 By how much (if any) would the total profit contribution be improved if some mar-
keting effort were diverted to profitable territories or customer groups from unprof-
itable territorial and customer segments?

5 By how much (if any) would the net profit contribution be increased if there were a
change in the method of distribution to small unprofitable accounts, or if these

accounts were eliminated?

Only by actually carrying out properly designed marketing experiments can manage-
ment realistically predict with an acceptable degree of certainty the effects of changes in
marketing expenditure on the level of sales and profit of each differentiated product,

territory or customer segment in the multi-product company.

3.9 The nature of productivity

Productivity can be considered at either a macro level (i.e. in relation to entire indus-
tries or whole economies) or at a micro level (i.e. in relation to particular organizations,
or in relation to particular activities within organizations). Our interest is in the latter —
productivity at a micro level — although we must avoid being too introspective by
focusing exclusively on one organization or function as if it were independent of its
context.

At its simplest, productivity can be conceived of as the relationship between out-

puts and inputs. Thus, marketing productivity can be expressed as:

marketing outputs
marketing inputs

Sevin (1965, p. 9) has defined marketing productivity in more specific terms as:

/1 the ratio of sales or net profits (effect produced) to marketing costs (energy

expended) for a specific segment of the business.””

This equates productivity and profitability, which seems acceptable to some writers (e.g.
Thomas, 1984, 1986), but not to others (e.g. Bucklin, 1978). The major objection to Sevin’s
definition is due to the effects of inflation, since sales, net profit and costs are all financial
flows subject to changes in relative prices. For example, any increase in the value of sales

from one period to another during inflationary times will be made up of two elements:

1 An increase due to a higher physical volume of sales

2 Anincrease due to higher prices.
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If the value of the pound sterling were constant this would remove the problem, but
since this is not the case it means that any financial data is necessarily suspect. The
answer is to make some adjustments to ensure that measurement is made in real terms
rather than simply in monetary terms — and to make these adjustments to both numera-
tor and denominator in a way that allows for differential rates of inflation. Once meas-
urement is made in real terms, it is possible to use the ratio that emerges as an index of

efficiency. This can be used in relation to two types of question:

1 How much output was achieved for a given input?

2 How much input was required to achieve a given output?

These questions can be asked retrospectively (as above) or prospectively (for exam-
ple, how much output should be achieved from a given mix and quantity of
inputs?). The first relates to the notion of technical efficiency, whereby one seeks to
maximize the output from a given input, whereas the second relates to the notion
of economic efficiency, whereby one seeks to minimize the input costs for a given
output.

Having specified in operational terms the numerator (output) and the denomina-
tor (input), and having eliminated the impacts of inflation, the result represents a
measure of resource allocation (i.e. the pattern of inputs) and resource utilization (i.e.
the generation of outputs), and these can be depicted via ratio pyramids, which we will
look at later in this chapter. What we need to recognize at this point is that the array
of ratios within a ratio pyramid can give us a vivid picture of the manner in which
the organization has allocated its resources, and the efficiency with which those
resources have been utilized. The next step, of course, is to consider how the alloca-
tion and its efficiency might be improved, which will mean changes in inputs and
outputs. In turn, this requires an understanding of the causal relationships between
inputs and outputs.

Let us be a little more specific and consider a particular productivity index from
the distribution domain. The relevant output may be expressed in terms of the number
of orders shipped during a given period, and the associated input may be the number

of labour hours worked in the period. Thus:

number of orders shipped
number of labour hours worked

Productivity index =

It will be apparent that this index relates one physical measure to another, hence there
is no need to worry about inflationary distortions. However, had the numerator been
expressed in terms of the sales value of orders shipped, and/or the denominator in
terms of the cost of labour hours worked, it would have been necessary to adjust the
figures to eliminate the effects of inflation — even though the index that results is a true
ratio (i.e. it is not stated in terms of specific units).

It should also be apparent that any productivity index that is calculated is mean-

ingless in isolation from some comparative figure. With what should an index be
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compared? There are a number of alternatives that will be examined later in more

detail, but for the present we should be aware of the following:

= [nternal comparisons can be made with figures from previous periods (which give a
basis for trend analysis) or figures representing efficient or desired performance
(which give a basis for budgetary control)

= External comparisons can be made with other organizations operating within the

same markets.

The importance of external reference points cannot be overemphasized. As Christopher
(1977) has stated:

IIBusiness success is achieved where the client is, more than in our plants. External
returns from the market are more appropriate measures than internal returns on invest-
ment. Success is more in manufacturing satisfied, repeat customers than in manufacturing

products.”

3.10 The use of ratios

Whether one’s primary interest is in the productivity of an organization as a whole, or
in the productivity of a highly specific activity within an organization, ratios can be
computed at a suitable level of aggregation. Their value lies in the relative measures (as
opposed to absolute measures) on which they are based.

It is possible to calculate a great range of ratios, but a word of warning is needed to

ensure that only useful ratios are calculated. Thus, for example, the ratio of

advertising expenditure
miles travelled by salesmen

within a given period is not likely to be very useful for at least two reasons:

1 It seeks to relate two input factors (rather than one input and one output)
2 The resulting ratio (of advertising expenditure per mile travelled by sales representa-

tives) is not meaningful.

On the other hand, the ratio of

incremental sales

incremental promotion expenditure

relates one input to a relevant output and is potentially useful as a measure of promo-
tional effectiveness. Discretion, therefore, is most important in choosing which ratios to
calculate as a means towards assessing productivity within marketing.

Another warning needs to be given over the way in which ratios tend to average

out any patterns in the underlying data. Consider the case of a seasonal business
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making 90 per cent of its sales in the first six months of every year and the remaining
10 per cent during the other six months. Average monthly sales over the whole year
will differ significantly from the average monthly sales in each half year, so one must
choose carefully the period over which one gathers data and the frequency with
which one calculates ratios.

At an organizational level, the ultimate financial measure of short-term efficiency is
the relationship between net profit and capital employed, typically expressed in
percentage terms as the rate of return on capital employed or the rate of return on
investment (ROI):

oI — 'net profit % 100
capital employed

This ratio shows the return (i.e. net output) that has been generated by the capital
employed (i.e. input) during a given period of time. Problems exist in connection
with the definitions, hence measurement, of both numerator and denominator,
which highlights another note of caution in using ratios: always be sure to establish
the definition of numerators and denominators. For example, is the net profit pre-tax
or post-tax? Is the capital employed based on historic cost or replacement cost
figures?

Given that profit is the residual once costs have been deducted from sales rev-
enues, it is clear that ROI can be improved by either increasing sales revenues, decreas-
ing costs or reducing capital employed — or by any combination of these. This gives us
the basic idea underlying the ratio pyramid. At the apex is ROI, but this can be decom-
posed into two secondary ratios:

net profit
capital employed

Primary ratio:

net profit sales revenue
sales revenue  capital employed

Secondary ratios:

Each of the secondary ratios can help explain the ROI The first is the profit rate on

sales and the second is the capital turnover. Their interrelationship is such that:

profit rate X capital turnover = ROI

Even the secondary ratios are highly aggregated, so it is necessary to proceed to meas-
ure tertiary ratios as one moves down the ratio pyramid using its structure as a diag-
nostic guide.

The general cause of any deviation in ROI from a target rate may be found by
computing the profit ratio and the capital turnover ratio, but this is only a starting
point. Before corrective action can be taken, a study of specific causes must be made,

hence tertiary ratios need to be worked out.
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Tertiary ratios are those that constitute the secondary ratios. The profit ratio reflects
the relationship between the gross profit rate, the level of sales revenue, and operating
costs (i.e. net profit + operating costs = gross profit), while the rate of capital turnover
is affected by the level of sales revenue and the capital structure mix (of fixed and
working capital, etc.). From these details it is a simple step to compute four tertiary

ratios as follows (as shown in Figure 3.19):

Gross profit
Sales revenue

Sales revenue
Operating costs

Sales revenue
Fixed assets

Sales revenue
Working capital

Figure 3.19 also shows many other levels of the ratio pyramid that can be identi-
fied, and the process of decomposing broad ratios into their component parts can be
continued further and further until the reasons for overall outcomes are known.

A variation on Figure 3.19, relating specifically to marketing, is provided by

Figure 3.20.
Net profit
Capital employed
|
[ \
Net profit Sales revenue
Sales revenue Capital employed
|
[ { \
Gross profit Sales revenue Sales revenue Sales revenue Working capital

Sales revenue

Sales revenue

Operating costs

Fixed assets

Sales revenue

Sales revenue

Working capital

Sales revenue

Capital employed

Current assets

Direct labour cost

Sales revenue

Indirect labour cost

Sales revenue

| landand buildings

Sales revenue

Current assets

Sales revenue

Current liabilities

Fixed assets

Direct material cost

Sales revenue

Direct costs

Indirect material cost

Sales revenue

Motor vehicles

Sales revenue

Stocks

Sales revenue

Capital employed

Investment

Marketing costs

Sales revenue
Administration costs

Sales revenue
Other costs

Figure 3.19 Ratio pyramid

Plant and equipment

Sales revenue

Debtors

Sales revenue

Capital employed

Stocks

"~ Fumiture and fittings

Cash

Capital employed
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Operating profit
Total marketirpg investment

( |

Operating profit Sales revenue
Sales rfvenue Total marketing investment
Selling costs ~ Administration costs Promotion costs Research costs Distribution costs
Sales revenue Sales revenue Sales revenue Sales revenue Sales revenue

\

Customer service costs ~ Sales costs | Promotion costs ~ Above the line costs  Below the line costs | Warehousing costs  Transport costs

Sales revenue Sales revenue |  Total budget Sales revenue Sales revenue Sales revenue Sales revenue

Credit costs  Invoicing costs Marketing research costs ~ R&D costs

Sales revenue  Sales revenue Sales revenue Sales revenue

Figure 3.20 Marketing ratio pyramid

3.11 Analysing ratios and trends

It is possible to indicate trends in a company’s performance over time by plotting suc-
cessive ratios on a graph and thereby showing trends. Some important trends may only
become apparent over a number of months (or even years), and ratio analysis can ensure
that such trends do not develop unnoticed. Figure 3.21, for example, shows a continuing
decline in a company’s profitability. The causes for this trend may be found by breaking
it down into its secondary components and so on through the ratio pyramid. These
secondary trends — profit rate and capital turnover — are shown in Figure 3.22 and can be
seen to be falling and rising respectively. Figure 3.23 then takes the former of these
trends (falling profit rate) and decomposes it into a falling gross profit trend and a rising

operating cost to sales revenue trend.
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Figure 3.21 Primary trend
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Figure 3.22 Secondary trends

It could prove necessary in a specific instance to work right through the ratio pyra-
mid in plotting trends in order to isolate the causes of variations from the desired trend
line in higher levels of the ratio hierarchy, and it may also be necessary to apply some
imagination and common sense. This last-mentioned requirement can be illustrated in
two ways. First, the declining ROI noted in Figure 3.21 may be thought, prima facie, to
be due to the falling net profit to sales revenue trend shown in Figure 3.22, and so the
rising capital turnover trend as in Figure 3.22 may be ignored. But ROI is clearly the
combined outcome of a particular level of profit and a particular quantity of capital
investment, so any variation in either will inevitably affect the ROI. Furthermore, a ris-
ing aggregate trend of capital turnover will almost certainly conceal many more com-
pensating highs and lows in tertiary and subsequent levels of the ratio hierarchy. It
follows that attention in the light of a falling ROI should not necessarily be focused
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Figure 3.23 Tertiary trends
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exclusively on the net profit trend, but some consideration should be given to the rate
and trend of capital turnover.

The second common-sense point to note is that a rising operating cost to sales rev-
enue trend, as in Figure 3.23, cannot be controlled until the specific items that cause the
trend have been identified and appropriate steps taken to bring them under control. Of
course, the extent to which the decline of the profit rate (a secondary trend) is caused

by either of its constituent tertiary trends should be carefully established.

3.12 Ratios and interfirm comparison

In many industries — and especially in those in which operating methods, technology,
product characteristics and general operating conditions are very similar — it is helpful
to have comparative figures for one’s own company and for other companies within
the industry. From published accounts it is possible to see the primary, secondary and
tertiary ratios (hence trends) of competing companies, but no reasons for divergences
between one’s own company’s results and other companies’ results can be discerned
from such accounts due to a lack of detail relating to the lower part of the ratio pyra-
mid (i.e. below the tertiary level) and so there is no guidance for future actions.

One major cause of divergence between the results of any two companies can be
found in their use of differing accounting techniques and definitions. This will be seen,
for example, if two companies purchase a similar asset each at the same point and one
company chooses to depreciate the asset over four years while the other company
chooses to take a 100 per cent depreciation allowance in the first year. It follows, there-
fore, that a meaningful comparison must be based on common definitions and usage.
This can best be achieved (for comparative purposes) by a central organization and for
this reason the Centre for Interfirm Comparison was set up.

While interfirm comparison figures are expressed in relation to quartiles and the
median (i.e. if all results are ranked in descending order of size, the median is repre-
sented by the figure that comes halfway down, and the third quartile is three-quarters
of the way down), the following example (OPQ Ltd) simplifies this by just giving the
general approach to interfirm comparisons. The necessary steps in such an exercise are:

1 Ensure that the reports, etc., that are to be compared incorporate figures that have
been prepared on a comparable basis

2 Compute the required ratios, percentages and key totals from submitted reports

3 Compare the results of each company with the aggregate results

4 Introduce intangible or qualitative factors that may aid in interpreting the results of
each individual company in the light of the whole picture

5 Examine the numerator, denominator and lower ratios in instances where a ratio dif-
fers significantly from the external standard (or average, median or whatever)

6 Determine the adjustment (if any) that is required to bring a given company’s diver-

gent ratio into line with the aggregate norm.
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OPQ Ltd: ratio analysis

The following is a simple example of interfirm comparison. Figure 3.24 shows the
ratios of OPQ Ltd, a firm in a light engineering industry, for the two years 2002 and
2003.

Ratio Unit 2002 2003

Operating profit
Assets employed

Operating profit

Sales revenue

Sales revenue
3 _ times 1.5 1.65
Assets employed

Assets employed
3a - days* 249 222
Average daily sales revenue

Production cost of sales

Sales revenue

Distribution and marketing costs

Sales revenue

General and administrative costs

Sales revenue

Current assets
7 - days* 215 188
Average daily sales revenue

Fixed assets
8 - days* 34 34
Average daily sales revenue

Material stocks
9 - days* 49 45
Average daily sales revenue

Work-in-progress
10 - days* 53 46
Average daily sales revenue

Finished stocks
1M - days* 52 39
Average daily sales revenue

Debtors
12 - days* 61 54
Average daily sales revenue

* Days required to turn the asset item over once.

Figure 3.24 OPQ's own figures
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This looks like a success story. Profit on assets employed has gone up from 8.25 to
10 per cent due to an increase in the firm’s profit on sales (Ratio 2) and the better use it
seems to have made of its assets (Ratios 3 and 3a). The higher profit on sales seems to

have been achieved through operational improvements, which results in a lower ratio

Ratio Firm

Operating profit
1 TS — % 18.0 14.3 10.0 7.9 4.0
Assets employed

Operating profit
Sales revenue

Sales revenue
3 _— times 1.20 1.09 1.65 0.98 2.0
Assets employed

Assets employed
3a - days* 304 335 222 372 182
Average daily sales revenue

Production cost of sales
4 % 73.0 69.4 70.4 72.5 79.0
Sales revenue

Distribution and marketing costs

Sales revenue

General and administrative costs

Sales revenue

Current assets
7 - days* 213 219 188 288 129
Average daily sales revenue

Fixed assets
8 . days* 91 116 34 84 53
Average daily sales revenue

Material stocks
9 - days* 45 43 45 47 29
Average daily sales revenue

Work-in-progress
10 - days* 51 47 46 60 52
Average daily sales revenue

Finished stocks
1 - days* Al 63 39 94 22
Average daily sales revenue

Debtors

- days* 36 84 54 18 26
Average daily sales revenue

* Days required to turn the asset item over once.

Figure 3.25 The interfirm comparison
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of cost of production (Ratio 4). The firm’s faster turnover of assets (Ratio 3) is due
mainly to a faster turnover of current assets (Ratio 7), and this in turn is due to acceler-
ated turnovers of material stocks (Ratio 9), work in progress (Ratio 10), finished stock
(Ratio 11) and debtors (Ratio 12).

The firm’s illusion of success was shattered when it compared its ratios with those
of other light engineering firms of its type. Figure 3.25 is an extract from the results — it
gives the figures of only five of the twenty-two participating firms. OPQ Ltd’s figures
are shown under letter C.

In this year, the firm’s operating profit on assets employed is well below that of
two other firms, and this appears to be due to its profit on sales (Ratio 2) being rela-
tively low. This in turn is mainly due to the firm’s high distribution and marketing
expenses (Ratio 5). In the actual comparison further ratios were given, helping Firm C
to establish to what extent its higher Ratio 5 was due to higher costs of distribution and
warehousing, higher costs of advertising and sales promotion, or higher costs of other

selling activities (e.g. cost of sales personnel).

3.13 A strategic approach

A strategic-oriented approach to answering the question ‘Where are we now?’ can be
provided from the PIMS database. PIMS stands for Profit Impact of Market Strategy
and refers to an objective approach to analysing corporate performance using a unique
database. Some 3000 strategic business units (SBUs) have contributed over 20 000 years’
experience to this database.

PIMS research on what drives business profits has become more widely known
over the last 25 years as more evidence has become available. We know that there is, in
general, a range of factors which we can quantify and relate to margins or to return on
capital employed (ROCE). But does the evidence show that these factors work in spe-
cific industries — do they actually explain the spread which dwarfs differences between
industries?

PIMS results from examining real profits of real businesses suggest that the
determinants of business performance can be grouped into four categories (see
Figure 3.26):

1 Market attractiveness
2 Competitive strength
3 Value-added structure

4 People and organization.

The first category contains factors in the business situation which affect its perform-
ance. Customer bargaining power, market complexity, market growth and innovation

are obvious examples.
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Competitive strength

o Growth o Market share
 Concentration o Relative share
o Innovation o Relative quality

o Customer power
o Logistical complexity

Value-added structure

o Investment intensity
o Fixed vs liquid assets
o Capacity utilization
o Productivity

o Make vs buy

Performance

o Patents
o Customer coverage

People and organization

o Lean organization
o Participative culture
o Incentives

o Training

o Insiders vs outsiders

Figure 3.26 PIMS can quantify how strategic factors drive performance

The second group describes how a business differs from its competitors in its mar-
ket. Share position, customer preference relative to competitors’ offerings, market cov-
erage and product range all have an effect.

The third category quantifies the way a business converts inputs into outputs; it
includes investment intensity, fixed/working capital split, employee productivity,
capacity use and vertical integration.

People and organization, an area in which PIMS has only recently built up compar-
able data, includes managers’ attitudes, skill and training mix, personnel policies and
incentives.

Figure 3.27 shows the impact of these factors on business profits tracked across
PIMS’ 3000 businesses. Some factors are more important than others, but each has an
influence that is both measurable and explainable. The positioning of a business on the
chart can be described as its “profile’.

To test whether the profile of a business can explain its profits, irrespective of the
industry in which it operates, PIMS looked at the performance of businesses with
‘weak’ and ‘strong’ profiles in each of five sectors. Weak and strong profiles were
picked in terms of position on each of the fifteen variables in Figure 3.28. Factors
related to people and organization were omitted from the exercise because the available
sample at the time was not large enough to examine them by sector.

The results are startling! In every industry sector where there were enough obser-
vations to test, a business with a weak profit makes a 6 per cent return on sales (ROS)

or 10 per cent return on capital employed (ROCE) over a four-year period. In contrast,
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Factor - Effect on ROCE +
Market attractiveness
Market growth Low High
Innovation Zero, very high Moderate
R&D spend Zero, very high Moderate
Marketing spend High Low
Contract size Large Small
Customer complexity Complex Simple
Competitive strength
Relative share Low High
Relative quality Worse Better
Differentiation Commodity Differentiated
Customer spread Narrow Broader
Product range Narrow Broader
Value-added structure
Investment/sales High Low
Capacity use Low High
Vertical integration Low High
Employee productivity Low High
People and organization
Attitudes Restrictive Open
Training Little Substantial
Incentives Weak Strong

Figure 3.27 Impact of strategic factors on performance (source: PIMS database)

a strong-profile business makes 11 per cent ROS or 30 per cent ROCE. The gap in profit
performance between strong and weak businesses in each sector is bigger than the stan-
dard deviation in each group. So the profile does a better job of explaining differences
in performance than the industry each business is in. The profile represents the strate-
gic logic that shapes the real competitive choices facing managers in each business (see
Figure 3.29).

These new results are critically important. Earlier studies have shown how mar-
gins are related to business characteristics, but this is the first time that businesses in
different industries with similar profiles have been shown to have more in common
when it comes to performance than businesses in the same industry with different
profiles.

PIMS also tested the relationships between margins and profile variables in various
subsectors in the chemical industry, which is particularly well represented in the PIMS
database. In each case the determinants included in the profile have a powerful and
consistent influence on profits. The effect of each determinant is similar irrespective of
the product category. This is true even for what is probably the most subjective of the

variables that PIMS measures: relative quality.
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Profiles

Market attractiveness
Market growth
Innovation
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Customer col
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Figure 3.28 PIMS profiles 1
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Figure 3.29 PIMS profiles 2 (source: PIMS database)
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3.14 Summary

This chapter has been concerned primarily with the pattern of utilization of resources and
its efficiency within the enterprise. Both ratio analysis and productivity analysis can help in
establishing the pattern of resource utilization and its productivity by relating inputs
(resources consumed or costs) to outputs (revenue). From this base, marketing managers
will be able to derive greater insights into relationships between inputs and outputs to
help them in planning (and controlling) future activities.

If the utilization of ‘effort’ (i.e. resources) across an organization’s various activities can
be measured and related to the revenues generated by those activities, it is possible to
determine their productivity. In essence, this is the ratio of outputs/inputs. While the out-
puts are fairly easy to establish with precision, the same is not true of the inputs, so most
of the discussion has focused on the measurement of inputs.

The starting point is the specification of the cost objects of interest, for example the
productivity of operating via different channels, or serving different customer groups.
Costs will be direct or indirect, depending upon the cost objects of interest. Full cost needs
to be determined for each cost object (i.e. segment), and the ways in which this can be
done have been discussed and demonstrated. Once this has been done, the productivity of
each segment can be measured and from these measurements questions can be raised
about the adequacy of each segment’s productivity. For example, can effort be reallocated
from Segment A to Segment B to improve these segments’ productivity?

The key role of ratio analysis and productivity analysis lies in the basis they give for
raising questions in the light of the existing state of play. Such techniques cannot generate
answers as to what to do next.

A pyramid of marketing ratios was constructed to show the pattern of ratios (reflect-
ing resource utilization and productivity) across relevant activities in a way that highlights
interdependencies in an overall context.

Finally, the strategic approach provided by PIMS was outlined, which adds extra
dimensions to the analysis of "Where are we now?’



